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I Reevaluating inference from v. 1 that it only refers to 91n nrmvo
a  RMMI:source — MRMOV:INRMY (vv. 1/3); v. 3 is in re: 9un nrmMo (nn nknv) > v. 1 is also 9un nrnwo
i >ov " since the mw7p mentioned here are in the plural (n'n%w) and the nkmv in the singular (%) — q1n nrRMYV
ii 27 99R (v. 2) teaches that it is 10 nrmva
1 explanation (»0>11258 92 pny’ /7): since beginning & end of v. 2 are nap1 > and Y381 is 731 9 >qun nrMV
2 tangential: Rn»12 explained by »1yr (the master Xn»11 interpreter, as 8”21 was the master exegete)
(a) &r792 if the mYp are mentioned in the N7, why the need to mention the ny1nn — and vice versa?
(i) Answer: if only mbp were mentioned, we would have concluded w52 mbp = nr>na mnnn
(if) And: if only mmnn were mentioned, we would have concluded 2'n mmnn = 1a mop
(iii) Explanation: mp cannot mean "wyn” (eating w”yn while 8nv) and MmN — N
1. Reason: eating nkmva nnIn does carry nn’n arn
2. Additionally: it isn’t an error we could have made, due to limitation of 17
(iv) Explanation: mp must refer to light nkmv (e.g. P7v nkMY) and MmN to severe NRMY (e.g. NN NRMV)
1. Application: cannot be N1, as they are both nnon (and 27 reason cannot apply — not a 18Y)
2. Rather: w"yn — we couldn’t have erred to apply nn'n to n”o (eating v"yn) — due to 17
(v) Explanation: mp is Y79 nRMY; M7INN — NN NRMY
1. And: had it only said y7w nrmv — with w5 for v”yn and nn>n for nmn
2. We might have thought: just as %p on 710N is NN, 0 too MNNN (NN NRMV) on Yp (V"Pn) is NN — 5"np
II  Foundational Xn»»a to our mwn:
a . 4 (source for 5179) — referent is wn>w; we may have thought that %15 only applies to ni17p like 0'n%w which are ea-
ten for 2 days and the night in between
i question: what would have this included?
ii  Answer: 1191- which is eaten for 2/1
1 Question: how would we have inferred it — 7131 doesn’t require n13’nv, "N N9NIN, DIV (DN5Y do)
2 Answer: via 9931 0191 993 — 938 YIRN (V. 4) + 1NOW N1AT WIN
(a) Challenge: these two D993 are adjacent
(b) Answer: this is a legitimate hermeneutic; if 2 0955 are adjacent, we “move” the V15 between them
(c) Result: 9% — ¥nHY Nar Iwan — YIRN 2> M1
b expansion: to other “eaten” mia7p — from 9W3; expansion to N%Y — from nar
¢ extending to: fowl, grain offerings — even the ymx¥n YW 19w 1Y — from v. 6 — % DW*TPN BN IR (in re: NRMY NO'R)
i explanation: v. 6 (NRMV) is linked to am1 via N9 n::5%n (vv. 6-5); 9m linked to Ywa via =y (vv. 5-4)
1  question: once we are going to extend to all, why use n'n5v as the base?
2 Answer: ©n5w have 1nn, for people (to eat the meat) and for narn (1R nvpn) — that’s the model for 5wa
(a) Including: ©9IWVIN D PYVW/DI NYN NRVN YN NNY ,NNNI N9 as per the mwn
(b) Excluding: o7y ©201 NN 0”2 NMIN DN NNIN ,NNYP ,NN12%,ymp etc. — as per the niwn
(i) inquiry: who is the author of this xn»92?
1. must be: n™, per his inclusion of y11¥n 5v nY N5
2. challenge: the exclusion of n’501 nmn — follows 1329
a. contra n™, who point to the nnnan o7 which is 9'nn its 0’ov1 to be brought;
b.  counter (p’pan) it could be brought days later 19nn »wr o7
c.  response (1™): only applied to m»o01 that accompany an animal, not brought alone
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(ii) solution 1 (9o 27): author is *17,
1. who holds: like ©'non re: Nnna o7 not being 7'nn the oov)
2. and holds: that 19w M1 PYaan; as its own niann are 'nn its eating (and release it from n%yn)
a. per: his dispute with nnon about the status after 7771 (of the nwx) and before minn of 1nw
3. challenge (7107 "3, who didn't believe that 901> 27would propose that solution): 1pw N% which comes by
itself; all agree that its miann are 1'nn it, yet all agree it’s not Y3an
a. per: Rn»71 —n" concedes only Yain if it accompanies DWR
(iii) solution 2 (7707 7): author is n™ — delete 0’501 nMn” from list of excluded items
(iv) solution 3 (»2x): no need to delete;
1. taught: inclusion of n% which accompanies DWR — assumes D201 that come with animal
2. taught: exclusion of 0’301 which come on their own; assumes 1% which comes on its own
3 Dissent (©9): 00w are brought on N¥nn nam, that is the model
(a) Excluding: ma7win oyyw oMo
III  Source for ymyn nron being included in law of 5a
a v.7 (listing apportionments to 0113 from miavp = liable for %19, as they are eaten)
i inspite of: RN 10, the oil of the y7¥n is included per miap %>
it and in spite of: v. 8, mri1p nnam IMYn nman, which aren’t M9 (1MY — to permit WIN; MR1p — to clarify her guilt)
iii and though: we might think of §1n nron as nYa), oNRLVN 3% extends to include it
iv  and though: 911 DWR is not coming for guilt but to permit him, it is (akin to y71¥n DWR) eaten per DnWR Y35
v and: 12w 2WR alludes to 0 51 (which goes to 103 if 93 has died without heirs)
1 And 7 5t1is: Rin 77 — belong to the m»ns for whatever need they have — even nwrn nx 12 VP>
IV Dictum of 8™ in the name of *>7%3n ov "
a  If: he was %39n in something performed yina — 5»s; but if he was %391 in something performed 981 - 5»a R>
b Explanation: if he was outside and did nv'nw with intent to do nxrn (inside) tomorrow — 5wa R
i And:if he was inside and did o7n minn with intent to spill the 077 *1W or PR NIVPN tomorrow — Y19 RY
ii ~ But:if he was outside and did nv'nw with intent to spill 0Th »1»® or burn 7R tomorrow — Y»a
¢ Source (57227): v. 9 (in context of n*wn 103 NRYN) — compared to DNV
i Comparison: just as o'n>w — all intents and actions are ¥'nn Narna
1 So too: wn 103 79 (719 NRVN) must have intents and actions in same place (i.e. intents in same place as ac-
tions which are objects of those intents)
(a) 277(quoting 27): na%n follows 3"
(b) Challenge (X¥27): 2RWNY RN2YN (currently impractical)
(i) Block (»7ax); then we shouldn’t study any w1pn mabn?
1. Rather: we study to receive the reward of n7n 1’5
(if) Defense (X27): was asking why the na%n was established if it is impractical
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